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Good afternoon!

Last time, we stopped before continuing the 1dea of fronting and
postponement. We said that we have five processes of fronting and
postponement and we started with thematization.

We said thematization 1s when you want the reader to focus on the new
mformation, so you move the theme to the beginning of the sentence.

We also said that a sentence such as:

His name is John.

We call such a normal sentence: unmarked; there 1s no shift in it. When I
want to make a shift, it becomes marked:

John his name is.

It 1s not correct grammatically, but sometimes speakers use this in order to
emphasize something.

This 1s fronting thematization.

Another example: 1f I say:

| have not received your letter.

Your letter | have not received.

Now, 1f I say:

Never have | read such a silly story.

Is 1t correct?

Students: Yes, 1t 1s.

Teacher: It 1s grammatically correct.

Student: There 1s an inversion.

Teacher: Where i1s the shift?

Students: I have never read such a silly story.

Teacher: So, here there 1s a subject-auxihary mversion. So:

When sentences start with negative such as (never, nor, only, etc),

you should follow them with subject-auxiliary inversion.

Marked: Never have | read such a silly story.

Unmarked: I have never read such a silly story.

Marked structure does not necessarily have to be grammatically incorrect,
but for emphasis, we shift posittons and make grammatical mistakes
sometimes.
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Starting with negative structure 1s more advanced. Another example:
Only then did I realize how silly it was.

This 1s marked. The unmarked form:

| realized only then how silly it was.

This 1s also thematization. So, you use mnversion when:

=» You want to emphasize something
=>» You start with the negative

Student: We use inversion after 'barely.’

Teacher: Of course, there are some particles mm English that require
mversion.

Student: Can we use nor' without neither'?

Teacher: No, they are compound together.

Now, another example:

The bus comes here.

If I want to shift, what should I say?

Student: Here the bus comes.

Teacher: Yes, here I want you to know that we can shift any element
whether 1t 1s adverbial, subject-verb, object, etc. You can shift any element of
the sentence.

**k*

Can I shift clauses?

Students: Yes

Student: I will pass my exam if I study hard. => if I study hard, I will pass
my examn.

Teacher: Okay, we can mvert a dependent clause with an mdependent
clause. I will give you another example.

What annoyed me is his voice. => His voice is what annoyed me.

| do not know what he wants. => What he wants | do not know.

So, we shift the thing we want to emphasize to the beginning and this 1s
what we call fronting. Yet, in order to emphasize, we do not only use
fronting. We also use postponement.

**k*

Now, the second case 1s of fronting and postponement 1s:

It-Cleft: (fronting)

What 1s the meaning of 'cleft'?

Student: shifting

Teacher: Of course, we have shifting, but it clefts' means 1t cleaves.' It cuts
the sentence mnto two. For example:
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It was a truck that hit the horse.

Or:

It was a horse that the truck hit yesterday.

Here, I am talking about the horse; object. Here, 1t 1s marked; the
unmarked sentence would be:

The truck hit a horse yesterday.

In other words, 1f I say the following and I am not sure of my information:

The truck hit a cat yesterday. (unmarked)

You would correct me and say:

It was a horse that the truck hit yesterday. (marked)

Here, the focus 1s on the object which 1s the horse. So, the sentence clefts
in order to give the importance to the object, and to move it to the
beginning.

We can do this to any part of the sentence. For example, I say:

The car hit the horse yesterday.

You want to correct me; you say:

It was the truck that hit the horse yesterday.

We can also focus on the adverb:

The truck hit the horse today.

You want to correct me; you say:

It was yesterday when the truck hit a horse.

It depends on the part of the sentence that you want to focus on. That 1s
why 1t 1s mmportant to sometimes use 1t-cleft mm order to emphasize
something.

*k*

Wh-Cleft: (postponement)

We also call it (Pseudo Cleft).

It focuses on postponement; sometimes, I need to put some themes at the
end to give you a sense of contrastive.

For example:

Money is what he wants for me.

Where 1s the new information? It 1s 'money.' It becomes:

What he wants from me is money.

This 1s used for pragmatic purposes; it 1s done to attract your attention to
the word 'money.'
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The answer of the wh-question 1s put at the end mn order to draw your
attention to it.

You have to differentiate between new imformation and given information.
Here, I know that he wants something from me (given mformation), but
what I did not know that he wanted money (new information).

Another example:

Where he went yesterday is the park.

The park is where he went yesterday.

There 1s no drawing attention. We also cannot switch.

**k*

Passive:

This letter was given to me yesterday.

Is there any focus here? No, but if I say:

This letter was given to me by John.

Here, the focus 1s on John.' So, sometimes passive 1s used as a technique
for postponement because I want to focus on the last part of the sentence.

**k*

There Constructions:

Like when we say:

There are plenty of food on the table.

All the time, when we have 'there,’ we are focusing on something after 1t,
and there 1s always a new information after it. The new mformation n this
example 1s 'plenty of food.' The given mformation 1s 'on the table.'

It 1s related to postponement.

Student: Should not we say in this example 'there 1s'?

Teacher: You all know that 'food' 1s an uncountable and treated as a
singular, but what about 'plenty." Plenty 1s a quantifier which do not
determine subject-verb agreement.

Student: The word food can be both countable and uncountable; one type
of food 1s fruits, and a lot of types of foods.

Teacher: Yes. We have such cases, but here 'plenty’ refers to plural here.

**k*

The last strategy related to postponement 1s:

Extra-position:
It does not matter what he says.
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After it does not matter, we have something new.

| am happy to see you.

Given information: I am happy

New mformation: to see you

So, a lot of sentences are structured 1 a way to draw attention of readers
or listeners. Of course, listeners depend on mtonation and stress, but for
readers, we have these techniques.

Extra-position is related to postponement as we can see.

e e e e v v e e ke o o e e ke e e o

Now, we move to Arabic.

In Arabic, there 1s more word flexibility than i English concerning word
order because 1n Arabic, we can move whatever we want.

In Arabic, we said that we have verbal and nominal sentences.

The sentence structure of Arabic 1s verb, subject and object. This 1s the
first one.

Verbal Sentences:

What can we say here?

Student: sometimes, the object comes at the beginning.

Teacher: What do we call it in Arabic?

Students: Jeldll Ao 43 J griall ayass

Teacher: So, in Arabic we have:

13 ol Goag Jeld) o Jgmiall i

:Usa sthe fronting object obligatory from the verb
1 3) ssoptional

The sixth structure 1s: verb + subject + object. For example:

Another structure in Arabic starting with the object:

s Y

We removed the object to the beginning; fronting; why?

Student: We are focusing on the object.

Teacher: Here, 1t 1s obligatory. In English, we have only optional cases.

While when we say obligatory, 1t means that you have to do the fronting
whether you want to focus on the object or not.

Student: The pronoun (¥4)) has to be fronted in Arabic because it is
enclitic.
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Teacher: An encliic pronoun is (J=i w), and (d4) is not a
pronominal enclitic. (&4)) is (Jeis cuai ypein) and what we call it is a
different story (independent suffix). We call it independent because i1t 1s so.

S el Al 3 Aladiall coadll e o L

They are called object pronouns, by the way.

Jaie ypaa Gl el cclals 1Dl

Teacher: Evervthing related to the object 1s independent, and everything
related to the subject 1s called enclitic pronoun.

Let us continue:
Obligatory Fronting of the Object:
Let us first talk about:
LA des
Student: Here, we have anaphoric.
Teacher: Good. The structure of the sentence 1s: verb, object, and subject.
deld ad ) Jae (A dhaila b ) juacn elgdl 5 ala Jad idas
g 58 e Jold Ala Ladl 1)
Here, you understand that we can shift the positions of the elements of the
sentence.
Now, let us start talking about cases of obligatory fronting.
Case N1:
Glall daase e
Student: It 1s a multi-object sentence.
Teacher: Yes, we have two objects. Do we have any obligatory shift of the
object?
Student: Yes ile
Teacher: Is it an independent suffix or enclitic pronoun? Where 1s the
first object?
Students: <L)
Teacher: So, () is the object.
Is it independent or enclitic? It 1s independent.
Now, the following question is for Arabic specialists: Do we have (s&l)
between (Alaidl cuaill yilacall)p
Student: Yes Al ¢l
Teacher: Okay. The subject 1s a noun; because we have an object suffix,
we need to move 1t to the beginning.
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Case N2:
e V) Guodl S L
.(Restrictive Particle ¢Uiiul 3131) Yo e aul o o 1oliiil
If the subject 1s restricted by the restrictive particle (¥)), the object 1s
fronted.
This sentence 1s marked. If we want to make 1t unmarked:
Gl Gle G
You have to change the order here.
sLICY) aSiCay Adia Alaadl oY juaa 3131 8 L (Y1) o) 1888 o) aSle Gt 1dBaadla
LBy 31al

**k*

Case N3:

Adlga QUS)) a8
Student: We have an enclitic pronoun.
Teacher: Here, the subject has an enclitic pronoun that 1s anaphoric to the

object (24)), The pronoun here is pronominal possessive.
Ao e dalll B possessive WS Jsii A adl A3l B ol il dBiada
**k*
Case N4:
VNS N\ IS TES S EN\ BT U™
Here, the object 1s ((«). What do we call 1t in Arabic?
3 ylaall clawd (e 1dalla
Teacher: In English, we call it interrogative particle. So, the object here 1s

an mterrogative particle.

Now, listen to this sentence:

Al Qe Ul

What happens here?

The object is preceded by (Wl); when the object is preceded by it, we have
to move the object to the beginning.

Here, the object is restricted by the particle ().

You might take these mnformation for granted, but n fact, if you do know
these things, 1t will make your translation much better. Other than being
translators, 1f you want to be researchers, you will face a lot of topics such as
these ones. Nothing 1s in vane; that 1s why we have this course.
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Optional Fronting of the Object:

Case N1:

I said before that in English, we only have optional fronting; we do not
have obligatory one.

Here, we put the mmportant elements first. When there 1s something
mmportant and you want to focus on, or you want to draw your listeners'
attention to, you move 1t to the beginning.

For example:

el L I8

This 1s a normal, unmarked sentence. But when I say:

RISRPENPEN (g -

Here, the focus 1s on the object. So, we use this fronting to emphasize on
the object; pragmatic purposes not syntactic.

Now, 1f I ask you:

ti) U8 e
You answer: >l
Here, the focus is on the object (s>J&)).
*k*k
Case N2:
If I say:

In the first case, although we used fronting, we started the sentence with a
verb. In this case, we started the sentence with the object. Also, I want to
focus on (b2uxd),

If I want to focus on the verb, I would say:

Anad Y (e Bapal (i

Here, we are also focusing on (32028) but we started the sentence with the

verb.
*kk

Case N3:
I will read the sentence, and you will answer the question: Tell me where
1s the new information?
el £l pnd (e el Bl 2l
Students: (sl ¢l md (e Held
Teacher: No
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Student: sxxdll

Teacher: Yes, you are right, but 1s 1t about the subject or the object? Why
did we shift the object to the beginning?

Student: to emphasize

Student: because it 1s the most important element

Teacher: No, we moved the object to the beginning because the subject 1s

long and heavy.
Now, 1f I give you this sentence:

Soal o ol
Can you give me other structures that emphasize the subject?
Students: .3amaill alii e
Teacher: In order to make 1t stronger, we can say:
Banadll ol (g Gl
Samail i 53 U
Bauadll ?‘L” Lﬁm oA ch
(sle 9 sanadll alas Al
e e e e vk o e e ke e e ok o e ok
Now, we move to the nominal sentences. What do you expect we will be
discussing?
S0 shgnyg el Lo Al s
We know that the Topic (Ixil) in Arabic should always be definite (48 2x),
but we have cases.
Student: When the topic i1s not agent, we have to put it in front.
Teacher: Okay. Let us put a reminder. A nominal sentence i Arabic has
a topic and a comment, and the comment could be:

> Sentental
» Non-sentential.

Let us talk about the sentential comment; a comment could be:

= A nominal sentence
=> A verbal sentence

Now, listen to this sentence:
_&»_}M ;_5.1\ 3!)5\
The topic 1s a nominal sentence (A 4l) and the comment is (Cx_x » s3l).
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Another example:

Ay 4l sl
The topic (A& is a verbal sentence. (4%l 3 ¢lg)) is anaphoric.
*kk
The Obligatory Fronting of the Comment:
Case N1.:
Let us take an example:

Where 1s the topic?

Students: —US

Teacher: Here, the comment (ge) 1s fronted because the topic is
indefinite; we said that mn Arabic, the topic should always be definite.
Another thing, when the comment is an adverbial or a prepositional phrase,
it must be fronted.

For example:

s dgaall 8

This is a prepositional phrase: the topic (J>_), and the comment ( s
dgal)) s fronted.
***
Case N2:
Look at the following example:
2 L
Here, (1) is a topic preceded by an interrogative particle (w) which is the
fronted comment. If we wanted to answer the question, we would say:
LS g

Here, (=) 1s a comment.
* k%

Case N3:
You can notice that these are similar to the cases of the object.
If the topic has a possessive pronominal suffix that 1s anaphoric with the
comment. For example:
lealea I b
(aba) is a topic and (W) is anaphoric with the comment (L1 8).
If I say:
I Lgsalia
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What do you understand?
Student: That (@) refers to someone else.
Teacher: Exactly. If we say (LY «ala), it is then understandable.

**k*

Case N4:

e Y Sk
Where 1s the topic?
Student: It is (i) and it came after the restrictive particle (¥)).

Teacher: Excellent, so here, we move the comment to the beginning,.
We will continue next week.

e de % ok Jo I I e ke ek o ek de ke Aok ok

Thank you very much!

See you next week
®

Demo Mode
N mnemnm
026632
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